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T 4 R HE /N IR B A L s TR

i T %5 Bt KOG T H40-6 i

T i S0 34E 6H 24H B 4F 34E 11H 15HET

g5 w4 m SRV BRAORRILE )

= (FEBE/ NP M OB /NP DR L~V S HR AR D IS F 4%

w A 5 (M) T == i & (1) WHERFE 4% ()

VIR e 4%A 128,849,600 117,136,000 (A) 11,713,600
IR e AR 129,820,900 118,019,000 (B) 11,801,900
ERIES S| 120,670,000 109,700,000 (C) 10,970,000
YA S SR | 121,578,600 (F) 110,526,000 (D) 11,052,600 (E)

PR 908,600 826,000 82,600

HEHEX)  B)X(©)+A)=(D) <KDOIITHED - HHLTOET>

(D) X0. 1=(E)
(D) + (E) = (F)




2 M BENEBRBIBEERMLBELISE No. 1
RETZEEHI HRETEER e
34 L 3- b= 1ﬁ;i =
# H W= g B B s I T o | EOEEE WE
[ERZAR %
| AT X 38,554,293 =K 39,024,234 469,941 HE%H
II| EXEE LS =Y 7,884,311 = 7,884,311 0
ID| AR T2 Y 31,289,267 = 31,289,267 0
RN % 77,727,871 78,197,812 469,941 H4%E
Him g
[| sk = 11,312,334 = 11,576,408 264,074 HEEH
0| B5E e =X 14,529,103 = 14,584,906 55,803 HE%E
— R R 2y 13,567,579 X 13,660,292 92,713 \BE%H
Fam 39,409,016 39,821,606 412,590 H4%E
EFF 117,136,887 118,019,418 882,531 HE%H
T EMAS T AT 117,136,000 118,019,000 883,000 H4%E
THE RS %A 11,713,600 11,801,900 88,300 HE%H
WA (LFEE) 128,849,600 129,820,900 971,300 H4%H




2 B BENMNRMIRBEERL LBETS No. 2

RETEEA] RETERR N
e o - - e — e = - PR
® H B F | ye mm mm o8 | mE  mE  BE o | EOVERE RE
I |BEISE
Al |FETE/ NP TSV i, AU 1 = 19,992,841 1 = 20,246,676 253,835 HE%E
A2 BB /INFERR B =ML SE 1 K 18,561,452 1 =X 18,777,558 216,106 H4%H
&t 38,554,293 39,024,234 469,941 HE%E




2% BENEFBRMBIBBERM LBELISE No. 3
RETEEAT RETERR ot
2 " A E | ge s @ S8 | %8 ®H =@ ey | EOMEE WE
A1 |EENER
1 |dEE=EM Mg LE = 17,421,278 = 17,635,113 213,835 BE%H
2 |AMELE T = 2,571,563 = 2,611,563 40,000 HE%E
&t 19,992,841 20,246,676 253,835 \BE%H




B O BRI IREER N LBETE (EENER) No. 4
ERETZE EAl RETERR o
_— e - . - T - — PR
# H w2 B B B &8 TN o | EOVEEE RE
1 |[t&E=ZEE b LRIEIE
1-1 [EH G T3 1 =& 420,030 1 = 502,693 82,663 \HE%H
1-2 | E&ETH 1 K 2,226,853 1 =X 2,226,853 0
1-3 |NEidkfEs L 1 = 9,523,892 1 =K 9,585,956 62,064 HE%E
14 [BEEKETHE 1 =X 47,525 1 K 47,525 0
1-5 |22y b OO T 1 = 3,488,250 1 = 3,488,250 0
1-6 |HE- s 1 X 1,714,728 1 =X 1,783,836 69,108 \HE%H
/N 17,421,278 17,635,113 213,835 BE%H




B O BRI IREER N LBETE (EENER) No. 18
RETEEA] RETERR o
e L - - = L - - =P
# H w2 B B B &8 TN o | EOVEEE RE
2 (SMEZEISE
2-1 |ME e T8 1 = 1,995,343 1 = 2,035,343 40,000 HE%E
2-2 | An—7" ek L5 1 K 267,959 1] =X 267,959 0
2-3 |$kbEgax T8 1 K 170,358 1 = 170,358 0
2-4 |EET 1 =X 42,440 1 K 42,440 0
2-5 |#hs -0t 1 = 95,463 1 = 95,463 0
/NG 2,571,563 2,611,563 40,000 \BE%H




2% BENEFBRMBIBBERM LBELISE No. 25
RETEEA] RETERR ot
2 " A E | ge s @ S8 | %8 ®H =@ ey | EOMEE WE
A 2 |37/ MR
1 |VEVEET FHEVERE LE 1 K 1,442,686 1 = 1,442,686 0
2 |dbEEM ML doETHE 1 3K 17,118,766 1 XK 17,334,872 216,106 H9%H
&t 18,561,452 18,777,558 216,106 HE%H




B BENERMAREER N LRETIE (REFNER)

No. 26

RETEEAT RETERR a3
#H = T I &8 TN o | EOVEEE RE

1 |BEYBRT FEVKREISE
1-1 |E GG L 1 = 36,002 1 = 36,002 0
1-2 [NERE T3 1 =X 162,906 1 =K 162,906 0
1-3 |2=y bR OZ O T3 1 = 1,216,000 1= 1,216,000 0
1-4 |fF=- 0 1 =X 27,778 1 XK 27,778 0

/NG 1,442,686 1,442,686 0




B O OEE TR IREER N LRETE (RBNER) No. 32
ERETZE EAl RETERR o
— o = - = i = ~ 1 5E
H w2 B B B &8 TN o | EOVEEE RE
2 |dtEH=ER A LBEIE
2-1 |IER R T 1 = 597,397 1 = 597,397 0
2-2 | EMETH 1 K 3,060,523 1 XK 3,060,523 0
2-3 |NEReE L& 1 KX 5,869,356 1 = 6,085,462 216,106 HE%E
2-4 |BEE TS 1 =X 47,533 1] =X 47,533 0
2-5 |2=yh e OV Ofth T35 1 = 5,309,310 1 = 5,309,310 0
2-6 |5y 1 =X 2,234,647 1 K 2,234,647 0
/NG 17,118,766 17,334,872 216,106 HE%H




